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What a child can do is mostly determined by their talent, and polishing it helps them grow and develop.
Talent-development classes improve a child's growth, but they're costly and time-consuming, so parents

aren't required to enrol their children, especially if they are already busy with their studies.

Which of the following statements, if true, best weakens the above argument?

A. Being busy is part of achieving growth and developing one’s talent.

B. Schools provide free talent-enhancement programs that require children to only come for at
least an hour after school.

C. Children will improve their social skills when they enrol in talent-development classes.

D. Improving a child’s talent does not ensure a successful life.

One Sunday morning, Christa went for a walk with her dog.

Christa happened to pass by the Savoir Toy Store and saw a banner that said they recently released

their best doll so far.

When Christa saw her classmates standing in line outside, waiting to buy the newest doll, she

hurriedly went home and told her dad about it.

Christa: “Daddy, | need you to buy me the newest doll. | heard that this doll is the best product that
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Savoir has ever released so far. All my classmates are waiting in line to have it

Which of the following best expresses the flaw in the argument above?

A.  Christa quickly believed that the doll is the best one out there just because Savoir said so.

B. Christa chose to focus on two extreme options and has failed to look for other options to



convince her dad to buy the doll.
C. Christa believes that having the best doll would lead to a chain of future events that would
result in positive outcomes.

D. Christa felt the need to have the newest doll just because all her classmates want one.

Three students - Micah, Hya, and Jess were suspected of stealing Trish's backpack during lunch. Miss
Amie, their adviser, knows that one of them is guilty. When faced with a five-day suspension, they made

the following statements:

Micah: Jess is guilty.

Hya: Micah is not guilty.

Jess: | am not guilty.

However, only two of them are telling the truth and the other one is lying.

Which of the following statements must be true if Jess is not guilty?

Hya is lying.

Jess is guilty and lying.
Micah is guilty.

o 0 = >

Hya is guilty but not lying.

The prices for Dreamworld’s entrance tickets are shown in the table below.

Pass for 1 day Pass for 3 days Pass for 5 days
(consecutive) (consecutive)
$13 $35 $50

Krielle will need a ticket for the following days of the month: 2, 3, 4, 8, 10, 11, 12, 13, 14, 18, and 21.

How much is the cheapest valid combination Krielle could use?

A. 150

B. 132
C. 124



D. 109

Find out from amongst the four alternatives as to how the pattern would appear when the
transparent sheet is folded at the dotted line.
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